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(n¥) | (mA) typ Iz(nf)| (Q) ﬂz (ma)| () {IzmA)| (%/°C) |(uh)|VR(V)
RD3. 6UM [=k::4 156 3. 5 136 5 -2.0mV/°C |10 1 Vit R EAOns TRPE. V2l X 532 4204
RD3. 9E =k 500 4. 20 50 20 ik 1 -2.0mV/°C |5 1 VzI BB HA0ns TH]E, vz X2 24C
RD3. 9ES HZE 400 4. 5 120 |5 1.2k 10.5  [-2.0mV/°C |5 1. VziEBEAOns TRIE, VX 532 79F
RD3. 9F =k ¥ 4. 40 15 10 -2.5mV/°C |40 1 VZid BB % 40ns TRIE, V2K 532 254
RD3. 9HS H® 250 4. 0.5 [370 |0.5 1500 [0.05 [-0.95mv/°Cl0.1 |2 Yy-7" VzHe Pk, V2 i3 BE% 40ms THIE 79F
RD3. 9L =1 500 . 4. 5 120 5 1200 0.5 -2.0m¥/°C |5 1 Vzi2 BB % 40ns THE. Pzsn=20W 3574
RD3. 9M =4 200 3. 4. 5 130 5 -2.0mvV/°C {10 1 VZId @R EA0ns TRIE, VekBX 532 6104
RD3. IMW HE 200 3. 4, 5 130 5 10 1 2HTF2v9-4977 (7)-} 2%7), HVZ<0. 15V 610C
RD3. 9P =k ¥ 3. 4 5 120 |5 -2.5mV/°C |40 |1 VZidBE % AOns THIE 237
RD3. 98 HE 200 3. 4. 5 130 |5 -2.0mV/°C |10 |1 Vzid BB%40ns TRIZE, VZHIX 532 4203
RD3. 9UH HE 150 3. 4. 0.5 [370 |0.5 -0.95mV/°C|0.1 |2 V2 i @ BRAONs TRIE, vr-7" Vot 4204
RD3. 9UM =k 150 3. 4. 5 130 5 -2.0mV/°C |10 1 VzI2 A B%4A0ns TRIE, VIR 532 4204
RD4. 3E =54 500 4. 4. 20 40 20 1k 1 1.5a9/°C |8 1 Vzid @R i%0ns THE, V2R 533 240
RD4. 3ES =k 400 4. 4. 5 120 5 1.2k 0.5 1.5mV/°C |5 1. V22 BB %4 0ns THIE, V2K 433 T9F
RD4. 3F Ek::4 1¥ 4, 4 40 15 10 -2.0mV/°C 1 VI3 BB %4 0ns THITE, V2B 533 254
RD4. 3HS [E)::4 250 4 4. 0.5 [380 (0.5 (1500 1{0.05 |[-t. 2 yv-7" V2o, V2 il B % 40ns TRIE 78F
RD4. 3L HE 500 4. 4. 5 120 |5 1200 {0.5 |-1. 1 Vzit BB 40ns TH]E, Pzsm=20¥ 3574
RD4. 3M =k 200 4. 4. 5 130 |5 -1.5mv/°C (10 |1 VZ i3 A BEA0ns THIE, VzH X 438 6104
RD4. 3MW e 200 1. 4. 5 130 |5 10 |1 2HFEIE-1077 (7/-F J€Y), AV2<0. 15V 610C
RD4. 8P R 1¥ 4 4. 5 120 |5 -2.0my/°C 20 |1 VZIZ B BE LOns THIE 2374
RD4. 3§ EE 200 4. 4. 5 130 |5 -1.5mv/°C 10 |1 Vzi3 BB A0ns THIE, V2K 533 420B
RD4. 3UH HE 150 4 4. 0.5 (380 (0.5 -1.0mv/°C (0.1 |2 VZiZ BB A0ns THIE, vo-7 Vet 4204
RD4. 3UM BE 150 4. 4. 5 130 |5 -1.5mv/°C (10 |1 VZiEREAOs THIE, VZHIIX 3 4204
RD4. TE BR 500 4. 4. 20 25 20 900 |1 -1.0mv/°C |5 1 Vzi2 BR|BAONS THIE, VZHIK 3 240
RD4. TES =k 400 4. 4, 5 100 |5 1.2k 0.5 [-10mV/°C |5 1. Vzi3 BRE00s THIE, V2K 23 79F
RD4. TF =k 1¥ 4 4. 40 10 10 -1.5mv/°C |20 |1 VI3 E BB A0ms THIE, V2R 533 254
RD4. TFM HE 400 4. 4. 5 100 |5 20 |1 Vzi2 B BB AOns THE 485D
RD4. THS H= 250 1. 4. 0.5 (380 (0.5 1500 (0.05 |-1.05mV/°Ci0.1 |3 yy-7 Vot Vzi2 BB 40ns TRIE 19F
RD4. 71 HE 400 4 4. 5 100 5 300 0.5 2 1 BMEEA 24C
RD4. 71§ EL 400 4. L1 |4 5 100 |5 860 0.5 |0.5mV/°C |2 1 ERSA. VX3 19F
RDL. 7K B 400 4 4.1 4. 5 100 5 300 0.5 0.5mV/C |2 1 VZid @R R AOms THRIE, BYFH 1574
RD4. 7L Sk 500 4 4. 5 100 5 1200 |0.5 -1.0mV/°C |5 1 VzIiZ AR % A0ns THRITE, Pzsm=20W 3574
RD4. TM =k 200 4. 4. 5 130 |5 -1.0mv/°C [10 |1 VzIid BB i%40ns THITE, VX 53 6104
RD4. THK =k 200 q 4. 5 130 (5 10 |1 2HEFEVI-P07" (771 2E7), A Vz<0. 15V 610
RD4. 7P HE W 4 4. 5 120 |5 -1.5av/°C |20 |l VziL A B AOns TRIE 231
RD4. 1S 2k 200 4. 4. 5 130 15 -1.0mV/°C {10 |1 VZi2 EREEAOns THIE, VHIX 533 1208
RD4. TUH HE 150 4. 4 0.5 {380 (0.5 -1.05m¥/°C (0. 3 VZI @ BHE40ns THRIE, vv-7 V25 th 4204
RD4. TUJ H® 150 4. 4. 0.5 800 0.5 -0.5mV/°C |2 1 Vzid AR AOns TRITE, VZHIX 533 4204
RD4. TUM 2% 150 1. 4. 5 130 |5 -1.0mv/°C {10 |1 Vz i3 BB % AOns THRIE, V2RI X 433 4204
RD4A HB 250 3. 4. 10 60 10 1k 1 -0. 04 5 1 Vzi BRI P TRIE 240
RDS. 1E H® 500 4. 5.4 |20 20 20 800 |1 0.5mV/°C |5 1.5 |V EBEAs TRIE, VZAEX 233 240
RDS. 1ES =3 400 4. 5.35 15 70 5 1.2k 0.5 0 5 L5 | Vzid BB % A0ns THRIE, VZABX 533 19F
RDS. IF 0 i) I3 5.4 (40 8 40 -0. 5m¥/°C (20 (1 Vzit @ RE40ns TRIE, VAR 533 254
RDS. 1FM S 400 4 5.4 |5 100 |5 20 |1 V2 i3 ABRAOns TRIE 485D
RDS. 1J HB 400 4 5.4 5 80 5 500 0.5 2 1. HERESH 24¢C
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